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m
p0 = 1.0;

w = 4*2*pi;

k = 1000.0;

a = sqrt(2*w/k);

L = 10;

dt = 0.01;

t = de*[1:100]';

fl = exp( (1+i)*a*L ) + exp( -(1+i)*a*L );

f2 = exp( (1-i)*a*L ) + exp( -(1-i)*a*L );

Al = (p0/2) / £1;

A2 = (p0/2) / £2;

figure(1l);

clf;

for j = [1:7]

subplot(7,1,3);

X = -L + (j-1)*(L/3);

P = Al*(exp((1l+i)*a*x)+exp(-(1+i)*a*x)) *exp(i*w*t)+A2* (exp((1-i)*a*x)+exp(-(1-i)*a*x) «
) *exp (-i*w*t) ;

Plot(t.P);

hold on

plot(t,p0*cos(w*t), 'r-.");

hold on
end




¥=-L

e = MO Oy U L S YT

o_n_'n

' '
—_ (=] -h b

0 0.1 0.2 0.3 04 0.5 0.6 0.7 0.8

dofled. coSine for refoumen.




